94-01 DODGE 1500 REPLACEMENT PART # 2200
02 DODGE 2500 REPLACEMENT

INSTALLATION KIT

WRAP LIC. DLATE LIGHT BOLTS
6 - 1/2 X 2" BOLT 2 - 1/4 X 3/4" BOLT 4 - 5/1&" NUT
€ — 179% HOT 5 LA R 4 - 5/16" FLAT WASHER
6 — 1/2" LOCK WASHER 2 - 1/4" LOCK WASHER 4 - 5/18" LOCK WASHER
12 - 1/2"™ FLAT WASHER 2 - 1/4" FLAT WASHER

STEP 1: Remove front bumper.

STEP 2: Mount replacement bumper to the inside of the frame as
shown on AA.

STEP 3: Remove the light with bracket from front bumper.

STEP 4: Place light bracket on the back of the replacement 4" pipe
as shown.

REPLACEMENT MOUNT LIGHT MOUNT

)

UPRIGHT

ol

TOP DECK

_u -

4" PIPE BOLT LIGHT BRACKET
W/ LICGHT

o e R

o h--.-»:_‘ [ . g - v ! & - - > N
2 " ollPS
- R N




